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ECONOMICS
( Major )
Paper : 1.2

( Macroeconomics )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
T oppTEd Ted ey
fa) What is meant by aggregate demand?

STafe vifEwl T & 2

(p) What is Net National Income?
g W o Jferce 6 e 2
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(c)

(@)

(e)

()

(h)

8A/364

(2)

What is the relation of National Income
with Economic Welfare?

T SRE GRS TR FS T 2

Define effective demand.
e IR sieeat fidt |
Give the meaning of autonomous

investment.

wysfern Rifvaem uf o |

What do you mean by paradox of thrift?

Seexq 129 T 92

State Keynes psychological law of
consumption.

@3 eARErEre T {4 g% 34 |

What is meant by MEC (Marginal
Efficiency of Capital)?

AT e el e g% 2

( Continued )

&

(3)

(i) Give the meaning of full-employment.
sjef-feraem = for |

(i) Outline the meaning of acceleration
principle.
T4 N (31 ©g) & fore |

2. Answer the following questions : 2x5=10
oo TRy Teq e
fa) Which economist propounded the

(b)

8A /364

principle ‘supply creates its own
demand’ and what does it mean?

AR e fges frew s ok v
F4’ (Supply creates its own demand)

T e wd@feRm T/ 23fée t=fee =+
EXERCEREN,

What are the determinants of effective
demand?

e wifEe fAdasceee & 9
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()

(d)

(e)

(4)

Give the difference between induced
investment and autonomous invest-
ment.

yor Rfvws s e Raes
(3 eenfre) e =12/ T3 |

How can you explain the statement
MPC + MPS = 1?

MPC + MPS = 1 &% J9MR &FAF @R
1T ?

Give two assumptions of multiplier
theory.

I 0GB Sy fi |

3. Answer any four from the following

questions :
Sl 3 GHIC BIfRG! 2ps Tag forey
(a) Discuss briefly the circular flow of

8A/364

income in a two-sector economy.

7249 S W {TREE 3 JEFR 2712
BYLF O 4 |

( Continued )

5x4=20

(b)

(c)

(@)

(e)

8A/364

(5)

Outline the problems of National Income
Computation in developing countries.

TR CPPTRS GO R AN SRS
e e |

Discuss the basic features of Keynesian
consumption function.

@ TACSI T o CARBEE SEs
1 |

What is meant by investment
multiplier? Explain its relationship with
marginal propensity to consume.

Raes @9 I 7 4% @9 2]Ter
F5S TR TTF I 49

Give an idea of the factors affecting
consumption function.

TSI FAS ATR (TR SRR <5l
S fia |

Write brief notes on the different types
of investment.

Rivcer R[fen o™ Rew vy G foaan |

( Turn Over )




8A /364

(6)

4. Answer any four of the following questions :

10x4=40

wod R I vifE o e forn -

(aq) What is National Income? Give a
comparative analysis of the various
methods of computing National Income
with their merits and drawbacks.

2+4+4=10

@y I W 57 WO S A 99 [few
AHSAT BT P RCEF HARCER A
@9 F KyRae! |

(b) Discuss the theory of effective demand

as put forward by Keynes. 10
(FFH SRCER] Y BT OGO SCED]
ETiR

() Give the main features of classical
theory of employment. What are its
drawbacks? 5+5=10
firca TRt oghE gym RREPTR fi |
R SEmerz & 2

( Continued )

(7))

(d) Define the concept of marginal efficiency

(e)

8A—6000/364

of capital (MEC). Explain the factors
affecting MEC. 4+6=10

T4 dfifes vFeR [ | e Ry 99
TeqwTTRR 0T 340

Explain the working of the multiplier
with the help of a table. Give two
limitations of this principle. 8+2=10

I ISR SRR T2 IR B | |3
e 761 e fra |

What are the assumptions of
acceleration principle? Write a note on
its working. 2+8=10

w99 NS wfeq@ercam & &2 T a7 3w
<51 (B o7 |
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